Puxadores

- __4-‘4 =
19
/ 4'7] ‘ , Rosca M4x12
| 786
PP CF. M4x10
15
M4x8] | 15
245
[l
85
10.5
R7.3

wv
v
=
o
o
©
X
>
o

R6.5
* Q -

M4x10

J14.6

@315 R21

Puxador Vitoria 03.02.036

® Material: Polimero
® Acabamento: Branco (005)

Puxador 03.02.024

® Materiais: Aluminio e Aco
® Acabamento: Polido Brilho (201)

Puxador Conico 03.07.001

® Material: Zamac
® Acabamentos: Cromo (400) e Steel (423)

Puxador Cilindrico 03.02.017

® Material: Zamac
® Acabamento: Steel (423)

Puxador 03.02.034

® Material: Zamac
® Acabamento: Ouro Oxidado (442)

000



	Página 6

